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QUESTION 1

What are two symptoms of duplex mismatch? (Choose two.)

A. Ping does not return from one direction versus the other direction.
B. Communication is slow and locks up.

C. Speed is seen equally slow in both directions.

D. The half-duplex side sees frame sequence errors or runt frames.
E. The full-duplex side sees CRC errors.

Correct Answer: BD

QUESTION 2

What is the most critical step to perform when you are using optical fiber connectors?
A. Cover with dust caps when not in use.

B. Immerse in alcohol prior to use.

C. Blow off and carefully wipe down with a tissue before and after each use.

D. Lightly sand with cloth prior to mating.

Correct Answer: A

QUESTION 3

For which three issues should fiber-optic network segments be tested? (Choose three.)
A. attenuation

B. near-end crosstalk

C. length

D. polarity

E. jitter

F. tensile stress

Correct Answer: ACD

QUESTION 4
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What is the purpose of Spanning Tree Protocol?

A. to prevent routing loops

B. to create a default route

C. to provide multiple gateways for hosts

D. to maintain a loop-free Layer 2 network topology
E. to enhance the functions of SNMP

Correct Answer: D

QUESTION 5

Which characteristic causes multimode fiber-optic cable to differ from single mode?
A. by allowing multiple network services in the same cable

B. shorter maximum network segment length for a given bandwidth

C. a wider variety of available connector types

D. use outdoors as well as indoors

Correct Answer: B

200-401 Study Guide 200-401 Exam Questions 200-401 Braindumps

200-401 Study Guide | 200-401 Exam Questions | 200-401 Braindumps 3/3


https://www.passapply.com/200-401.html
https://www.passapply.com/200-401.html
https://www.passapply.com/200-401.html
http://www.tcpdf.org
https://www.passapply.com/200-401.html
https://www.passapply.com/200-401.html
https://www.passapply.com/200-401.html

